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=q/w,dsp, |Casel-2] 5 25 |11.27] 1.2 J165.88] 3.33
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W, Un Casel-4] 15 25 |10.48] 1.19 [164.13] 10
Casel-5] 20 25 9.6 | 1.2 |165.88] 13.33
U U.JU Casel-6] 25 25 [ 10.66] 1.04 |137.54] 16.67
whmax m/Uma Casel-7] 30 25 | 8.58 | 1.2 |165.88] 20
Casel-8] 35 25 | 7.87 ] 1.16 |158.87] 23.33
Case2-1] 0 25 | 9.62 | 1.2 |165.88] -
U,/U Case2-2] 5 25 [10.42] 1.26 | 176.3] 3.33
wimax Case2-3| 10 25 |11.51] 1.17 |160.63] 6.67
Case2-4] 15 25 [ 10.4] 1.23 |171.1] 10
® Case2-5] 20 25 | 9.45 | 1.18 [162.38] 13.33
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Case2-7] 30 25 | 9.28 ] 1.05 [139.34] 20
Case2-8] 35 25 | 11.53] 1.34 [190.07] 23.33
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1 38 94 1983
2 35 45 1980
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